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800 0] ol 25 4.5 10| 1.5 184{GDS 25K538
1400]  110| 0] 25 2.5 10 3 141(GDS 25K539
4 5 en=1.20V/V Hz £=100KHz, Rg=0 185|DSG 25K541
300 30| o 10 1.5 10 1] ton=30ns, toff=40nstyp | ID=14, VDD=50¥ 164|GDS 25K542
2.4 o.035] o 10/1.8] 3| 100M PG=27dBtyp £=100MHz 1264|GSD 25K543
2.4{ 0.035\ o0 10/1.8| 3| 100M PG=27dBtyp 1=100MHz 157B|GSD 25K544
L1l o1 of 10 1264|GSD 25K545
1.9 o1 of 10 1574|DGS 25K546
700 28] o 10 0.15] 10 5 116B|GDS 25K549
730 a0 o 10 0.2) 10 5 116B|GDS 25K551
820 45 0 10 1.4 10 25 116B|GDS 25K552
820 a5 o] 10 1.5 10| 2.5 1168|aDs 25K653
1300 65| 0| 10 0.85) 10 4 1168{GDS 25K554
1300 65| o 10 1 10 1 116B|GDS 25K555
2050 so| of 10 0.55] 10 6 149cps 25K556
2050 80| 0 10 0.6 10 6 149{CDS 25K557
2950]  140f of 10 0.36 10 8 149cps 25K559
2050 140 0| 10 0.4] 10 8 149/GDS 25K560
Rigsk622 25K561
1600{  500| 0| 25 0.04| 10| 22 186{GDS 25K562
1500 300 0 25 0.06| 10] 16 186(GDS 25K564
3800] 100] o] 25 0.6 10 5 186 |GDS 25K565
1600 30| o0 25 4 10| 15 185(GDs 25K566
3100 o 10 0.75| 10 8 141|GDs 25K568
1.6 3 126 MAG=12dBtyp £=126Hz 123|SDSG 25K569
1.4/1.6] 126 MAG=13dBtyp £=120Hz 123/SDSG 25K570
1.3)1.4] 126 MAG=13. 5dBtyp t=12GHz 123|SDSG 25K570S
0.18] 10] 10 25K572
0.3 10| 10 25K573
1.41.6] 12 0a=10dBtyp £=12GHz 187|GSDS 25K575




